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QUESTION 1

This exhibit shows the Structure tab of the component definition.

[E8 PSU_TASK_RESOURCES (Component)
- PSU_TASK _TEL (Table) - Search Record
- Scroll - Level D
+ PSU_TASK_TBL (Table)
= Scroll - Level 1 Pnmary Record: PSU_TASK_RSRC
= %33 PSU_TASK_RSRC (Table)
e TASK (Record Field)
e RESOURCE_NAME (Record Field)
3% INSTRUCTOR (Record Field)
& PHONE (Record Fiekd)
& PCT_AVAILABLE (Record Field)
& COMPLETED_FLAG (Record Field)
- DERIVED_TRAIN (Derived)
- Scroll - Lewel 2 Primary Record: PSU_TASK_EFFORT
= Sk PSU_TASK_EFFORT (Table)
e TASK (Record Field)
$ RESOURCE_NAME (Record Field)
e EFFORT_DT (Record Field)
$% EFFORT_AMT (Record Field)
& CHARGE_BACK (Record Field)

The following PeopleCode program has been placed on the Rowlnit event for the Level 2 component record
(PSU_TASK_EFFORT)

If PSU TASK RSRC.COMPLETED FLAG = "¥Y" Than
Local Record &Rec_TaskEffort = GetRecord():;

For &i = 1 Toc &Rec TaskEffort.FieldCount
&Rec_TaskEffort.GetField(&i) .Enabled = False:
End-Fozr:
End-If:

Which three changes are required to move this program to the Rowlnit event for the Level 1 component record

(PSU_TASK_RSRC)? (Choose three.)

A. Add an outer loop to loop through each row in the level 2 rowset

B. Instantiate the level 2 rowset from the level 1 row

C. Add on outer loop to loop through each record in the level 2 rowset
D. Instantiate the level 1 row

E. For each level 2 row, instantiate a record object

F. Instantiate a record object for the level 1 row

Correct Answer: BCF
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QUESTION 2

Which event or events should you use for PeopleCode to autogenerate the purchase order number, the high-level key
for the orders page?

A. SaveEdit

B. SavePostChange

C. SaveEdit and SavePreChange
D. SavePreChange

E. SaveEdit and SavePostChange

Correct Answer: B

QUESTION 3

View the exhibits.

Question || Exhibit 1 || Exhibit 2 |

S PSU_CUST_PROD (Page) =] E3

Layout Iomar |
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| Question || Exhibit 1 || Exhibit 2

Products Purchased

Enter any information you have and click Search. Leave fields blank for a list of all values
Find an Existing Value Add a New Value

Search Criteria

Customer: |begins with s|

DESE-";DTIDF!Z| begins with |

[l case sensitive

Search Clear Basic Search & Save Search Criteria

Based on the page layout, what is wrong with the search page and how should you fix it?

A. The Add actions should not be available; check the component definition foe the Item Label

B. Include History and Correction should be displayed; check the Internet tab of the Component Properties dialog box
C. The Add action should not be available; check the Internet tab of the Component Properties dialog box

D. Include History and Correction should be displayed; check the Use tab of the Component Properties dialog box

E. The Add action should not be available; check the Use tab of the Component Properties dialog box

Correct Answer: D

Reference:
https://docs.oracle.com/cd/E57990_01/pt853pbh2/eng/pt/tpst/task_WorkingwithSearchPages027de6.html#topofpage

QUESTION 4

Which PeopleCode statement should you use to instantiate a Row object for the current row?
A. andRow = GetRow();

B. andRow = andRowset.GetCurrRow;

C. andRow =andRowset.GetRow;

D. andRow = CreateRow();

E. andRow = andRowset.Row();

Correct Answer: C
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Reference: https://docs.oracle.com/cd/E28394_01/pt852pbhl/eng/psbooks/tpcr/chapter.htm?File=tpcr/htm/ tpcr38.htm

QUESTION 5

When registering fluid components, assume you usually create the content references so that they reside in the My
Fluid Applications folder as shown in the exhibit.

Root Fluid = Structure Content > Fluid Papges

Structure and Content

*Click the folder tablz to view the chi d folders and content referencesfor that folder
*Click the “Edit" link to edit the folder definition

Folders Personalize | Find View all | (1] B§ First () 14of4 (B Last
Labsl Edit Saguence number
Analytics Edit
My Fluid Applications Edit 0
PezopleSoft Applications Edit 0
lpdate Manager Fdit 0
Add Folder

However, for your Fluid Billing component, you register the component so the content reference resides in
a folder outside the Fluid Pages folder in the Billing folder (Root>Billling).
What effect does this have on users accessing this component?

A. A tile for this fluid component cannot be added to a fluid homepage using the Add Tile button on the Personalize
Homepage page

B. Users will not be able to add this component to their Favorites list

C. There is no effect on the user accessing the component. The component can be accessed the same ways as any
fluid component

D. Users will not be able to access this component using a smartphone or tablet
E. Users will not be able to navigate to the component using the NavBar, Navigator option

Correct Answer: A
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